
3,-2,-1,-0,1,2,3, (PCA to beamline)hTP 0,951,1,05Ratio0,2-0,15-0,1-0,05-0,-0,050,10,150,23-10´ > (rad)f d< 3,-2,-1,-0,1,2,3, (PCA to beamline)hTP 0,951,1,05Ratio0,2-0,15-0,1-0,05-0,-0,050,10,150,23-10´) >q cot(d< 3,-2,-1,-0,1,2,3, (PCA to beamline)hTP 0,951,1,05Ratio100,-80,-60,-40,-20,-0,20,40,60,80,100,m)m > (xy dd< 3,-2,-1,-0,1,2,3, (PCA to beamline)hTP 0,951,1,05Ratio100,-80,-60,-40,-20,-0,20,40,60,80,100,m)m > (z dd< 3,-2,-1,-0,1,2,3, (PCA to beamline)hTP 0,90,951,1,05Ratio5,-4,-3,-2,-1,-0,1,2,3,4,5, > (%)T/pT pd< DQM_TT__mkFit-DQM_origDQM_TT__mkFit-DQM_modDQM_TT__mkFit-DQM_mod2
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